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8z ¢zl 52 NZZI| M

100,000& = 170m 17,000
O8z Nzl s2 ANZZI| A

100,000& = 170m 17,000
8z Edc 52 NZZI| SAM

100,000& = 170m 17,000
o8z MEcl Ot & EHl SAt

100,000 = 150m 15,000
Ods tde ALY OIIE =Y FHl SA

16,000& = 1,250m 20,000

O&= EHcl =2 &8 SA

275,000& * 200m 55,000
Ogxl g4l == HHl S At

100,000 = 180m 18,000
OHZ& S|l =2 ZF SA

100,000& = 170m 17,000
OHA &2 s2 28 S

100,000 = 100m 10,000
OH& =&l =2 ZF SA

100,000 = 100m 10,000
O=& M& &I ota2 Z& A

100,000& = 300m 30,000
O=% otdal =2 FHl ZA

100,000& =+ 200m 20,000
0=d8 88¢cl s2 28 SA

100,000& = 100m 10,000
O=d8 01ddl s2 2 % =2 &4

100,000& = 200m 20,000
0=d8 ¢kl s2 28 SA

100,000& * 120m 12,000
O=& otdal OtAZ ZE ZA

100,000& = 300m 30,000
O=d Escl SHEX 3AM

500,000 * 100m 50,000

_13_




SA: SADHY D
S S AN
SCRSEBINTES" CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=sd ¥ s & A
100,000& * 210m 21,000
O=d ¥zl s & SA
100,000& * 150m 15,000
O0=d ¢=2el s2 ZE SA
100,000& * 180m 18,000
033 Edel == Ul SA
100,000& * 180m 18,000
O03% d=2el == FHl A
100,000& * 180m 18,000
o= Z3e SBtis+=2 X A
200,000& = 100m 20,000
ONE 242 S2IF L FNLI| JA
250,000& = 100m 25,000
Ous &=zl =2 Fdl A
100,000& * 150m 15,000
O/= Zite| WEXN &X A
100,000& * 100m 10,000
Oul= el s2 Z& SA
100,000& * 200m 20,000
Odls Oldelal2 =8 HHl S A
10,000,000& * 14l 10,000
OdE FBH BHI42 My 2A
100,000& * 100m 10,000
O4lS 0l&#47 OIS 22 TMRI| S M
200,000& = 100m 20,000
Od= Site| Stis==2 EHl A
100,000& * 150m 15,000
odlsE FAG4 s2 HE SA
100,000& * 200m 20,000
otls JEHE AXH T SA
100,000& * 200m 20,000
OMNE Y SHH42 Iyl ZA
100,000& * 200m 20,000
OX=E LAEO0IIE FHEH S A
100,000& * 80m 8,000
OANZE dEH7 SsZ2EH SA
100,000& * 150m 15,000
OANE BS2 sZEHSA
100,000& * 350m 35,000
OANE Z5F0ISE sZ2EFSAM
100,000& * 300m 30,000
OANE Z=0t2 dY2Z HHl SA
100,000& * 200m 20,000
OANE MZOE s2EZE SA
100,000& * 200m 20,000
OANE S4c2 08 22 ZF SM
100,000& * 150m 15,000




SA: SADHY D
S S AN
Sl KeDIEs CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANZE S4cl =2 Ul A
100,000& * 200m 20,000
OANZ 32 =2 Ul A
100,000& * 150m 15,000
OANS R0t s Z& SA
100,000& * 100m 10,000
OANZE &8O =2 &l A
100,000& * 200m 20,000
OANZ &AA1e =2 Ul SA
100,000& * 200m 20,000
OANE =02 s2 ZF SA
100,000& * 200m 20,000
OANS MEMel s2 Z& SA
100,000& * 200m 20,000
OANZ A=SZ0OtS =2 EHl SAt
100,000& * 150m 15,000
OAS HMHellts s2 Z& SA
100,000& * 150m 15,000
OANE REFOIE s2 ZF SA
100,000& * 150m 15,000
OANE Fitel 52 ZH SA
100,000& * 200m 20,000
OANE Zshts s2 ZF SA
100,000& * 130m 13,000
OSE UJIY R4M2 ZHIF A
60,000& = 200m’ 12,000
O&X A= U2Es & S=F =2 FH
= A 100,000& * 70m 7,000
OGHE =258 =2 Ul A
200,000& = 100m 20,000
O&X = =2 FHl SA
100,000& * 170m 17,000
OSX 230t M2 OtAZEE ZA
16,000& = 1,875m 30,000
OSX &8s & == FHl A
100,000& * 170m 17,000
O&X FEXNF s2EZE SAM
130,000& * 100m 13,000
O&XE &elXl= =2 &l ZA
130,000& * 100m 13,000
O&XZ S0t &2 SHEEX M
400,000& * 50m 20,000
OLXZ REOS oJ2FHH & =2 &
gl S At 100,000& * 190m 19,000
OX S5& EsHx=ZH ¢ SHER =
At 170,000& * 100m 17,000
OEZXNF s2EF ¥ =2 HHl SAM
200,000& * 60m 12,000




2H: SANED
M ZANY
Sl XIHIIBES

SA-3H-S(3AH) - MRAS - BES Off &t 24

16,0008 * 1,875 30,000
OMS st&el SHOS W42 Jul IA

200,000 * 100m 20,000
OZA 2F2l W42 HHl SA

100,000 * 100m 10,000
02N SHE S22F o SHAX IA

100,000 * 150m 15,000
OZAN EE2 MEHX ZA

500,000 * 70m 35,000
OZA SHE2l S=4x ZA

500,000 * 60m 30,000
OANZ HEEXN? S2EZ ZBA

10,0002 * 60m 6,000
OKE OtEOIE 842 FHl BA

80,0002 * 375m 30,000
OMB STHel 42 Hbl A

80,0002 * 312.5m 25,000
ONE SFNISsIR 58 BZ A

80,0002 * 187.5m 15,000
ONB 22H =2 =BT BA

80,0002 * 137.5m 11,000
OKNS BUE SHI+Z ol SM

80,0002 * 325m 26,000
ONE 2&S ¥ th+2 bl A

80,0002 * 200m 16,000
ONE Sdel 842 Il B

80,0002 * 250m 20,000
ONE &2l S22 A

80,0002 * 312.5m 25,000
OANB AN 32 FHEH AY

100,000 * 150m 15,000
Ot AIS0IE SAX HHl BA

80,0002 * 187.5m 15,000
Ostet N=ENS SN FHl BA

80,0002 * 125m 10,000
Ot B& SAX FH BA

80,0002 * 125m 10,000
Ostél BADIS HH42 FHl ZA

80,0002 * 225 18,000
oSt 4gR YOHE SZEE BA

80,0002 * 200m 16,000
Oty RROIE S2EE DA

80,0002 * 312.5m 25,000
Ostet RES S2EE DA

80,0002 * 150m 12,000
Ostat A BHI£2 &X BA

80,0002 * 187.5m 15,000

=

i
2m




A TAOHE L
g

M SAONY
g

& XEIgrxd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ostit Holl s2 HZEH SA
80,000& = 200m 16,000
O sheh AOHNtE =2 EHl SA
80,000& * 112.5m 9,000
O sheh AotOtE =& X EHl SA
80,000 = 187.5m 15,000
ostdt S0t s Z& SA
80,000& = 200m 16,000
Ostat a3el sZ X Fdl A
80,000& * 400m 32,000
O &tk &Hlel Zotits Jtedlg &X
72,000& = 250m 18,000
Ol MXel WXNEShts s2 Z& ZA
80,000& = 212.5m 17,000
o0l d&el =02 s5 Z& SA
80,000& * 375m 30,000
O0lY Hitel FH0E 52 ZE SA
80,000& * 125m 10,000
OO0l DIg1el OIE0E s2 Z& A
80,000& = 200m 16,000
o0l =s0ts A=4X 2 =2 FH 3
At 80,000& = 187.5m 15,000
OO0l AlSH3e| 2t3t0t2 =2 AbHl S At
80,000& * 125m 10,000
o0l dxEel Jsits &2 A=54X SM
80,000& * 225m 18,000
OO0l Dlg2el WEX X ¢ AgzEx
= A 80,000& = 187.5m 15,000
o0l alstee] A0S =2 Ul SA
80,000&  225m 18,000
00IY S22 #4018 5224 M
25,000& = 600m 15,000
o0 S92 =0t OtAZ ZH SAM
16,000& = 1,250m" 20,000
03 Al 2 THHI 8,970 3,000 5,970
O4LAR FUSEAY AR
2,491,500,000& * 0.36% 8,970
402 RI2HA=20| M 30,000 0 30,000
01 RIZEAIZ2E X 30,000 0 30,000
Ol stots X4 &3
10,000,000& * 1JH A 10,000
Okx SEXEOS32 =¢ Fi
5,000,000& * 10024 5,000
OLXZ I 30t=sl& =8 FHl
15,000,000& * 1JH A 15,000
FoEHAAMND (SHAH) 1,103,960 1,102,376 1,584
A2 EFEHAALY 1,103,960 1,102,376 1,584




A TAOHE L

M SAONY

el FOIBOAIY(SRAR) GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 1,103,960 1,102,376 1,584
01 A& HI 1,100,000 1,100,000 0
O[AI&HI] 1,100,000
OgY W=s1el A2IRESAt
100,000& * 80m 8,000
ogYy I3l =2 Ul A
100,000& * 120m 12,000
0¥y =Hel 2+2 FHl A
100,000& * 100m 10,000
OdY 2=1cl oStz EHl SA
100,000& * 180m 18,000
OZYy ¥2s =2 X ZHl SA
100,000& * 160m 16,000
0%y Ysel 2+ FHl A
100,000& * 180m 18,000
OdY &d8el s & SAt
100,000& * 180m 18,000
Ods HUNE Fl 52 Z& A
100,000& * 170m 17,000
Ofs e 31837 =2 FHl SM
100,000& * 170m 17,000
o83 EF0E MHEHXN =2 FH M
100,000& * 170m 17,000
Ofs HEMNES =2 ZE SA
100,000& * 180m 18,000
Ofs HWOtNtE s2 Z& SA
100,000& * 170m 17,000
Ods ZRAMNS 52 EHl SA
100,000& * 140m 14,000
OHd &5 HAYZE FHl SA
100,000& * 170m 17,000
OSZ JAEE =2 Ul A
100,000& * 180m 18,000
OdZ dHE 2SJI7 &KX A
100,000& * 110m 11,000
O 8& Z¢us g58UZ Fdl SA
100,000& * 180m 18,000
O8Z HHE =2 Ul A
100,000& * 180m 18,000
oS ZAS == Ul A
100,000& * 180m 18,000
O=& A0S =2 &l A
100,000& * 150m 15,000
O=E HWROIS A EE A
16,000& = 1,250m" 20,000
O=% sclitsS OtASEE A
16,000& = 1,062.5m 17,000




M S AN D
M SAONY

SH9l: ZRIBOA

1)
0o
e
B>
]

SA-3H-S(3AH) - MRAS - BES Off &t 24

O=& JIs0tS =2 HHl SA

10,0008 * 160m 16,000
02X BHOIS 122 =4l 2A

10,0008 * 170m 17,000
02X NZE0IS JHSalY S 2 A

300,0008 * 50m 15,000
OMS AR FAUS B2 HHl IA

10,0008 * 250m 25,000
OUS QEBHOIS ¥ S2EF ZA

10,0008 * 250m 25,000
OXE NE-AASSH OIARTH B A

16,0002 * 1,562.5m 25,000

OME Ol MES &2l B A

10,0008 * 250m 25,000
ONZ 2202 S2EF ZA

10,0002 * 160m 16,000
OANZ A0S S2LF B A

10,0002 * 180m 18,000
ONZ s40t2 S2EZ ZA

10,0008 * 150m 15,000
ONZ BSOS S2EF ZA

10,0008 * 180m 18,000
OANZE =ael 22 BA

10,0002 * 180m 18,000
ONZ ZE0I2 =2 IF M

10,0002 * 150m 15,000
OGE 252 3QF0IS =2 HHl 2 A

10,0002 * 150m 15,000
OSE Agel AS0LS = Il I

10,0008 * 170m 17,000
OGE Agel FSOHS 22 FUl IA

10,0008 * 170m 17,000
OGE 42 ME0tS =¥ Il I

10,0002 * 170m 17,000
OGE 442 MEHIS 242 Ul ZA

10,0008 * 170m 17,000
OSE QUOIS RM2 =8 FHl JA

10,0002 * 170m 17,000
OZN 82l 52 BH TA

80,0002 * 225m 18,000
OZMN BUOIS FUHH &X ZA

80,0002 * 225m 18,000
02N ZNENS 52 TF JA

80,0002 * 225m 18,000
OZMN YT 52 TH TA

80,0002 * 225m 18,000
OZN Sl 52 BE TA

80,0002 * 225m 18,000

=

i
2m




A TAOHE L

M SAONY

el FOIBOIAIR (SPIA R (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2ZA E3cl s Z& SAt
80,000& * 125m 10,000
OANM=Z H%el s2 Z& SAt
80,000& =* 262.5m 21,000
ONE MESS =2 Ul A
80,000& = 225m 18,000
ON= 240 =2 &l A
80,000& * 175m 14,000
OMNS He Stis+=2 EHl ZA
80,000& = 162.5m 13,000
ONE Sits s2 &2 ZA
80,000& * 250m 20,000
ONME ZMS S e ZF S M
80,000& * 175m 14,000
Ostat 232 =2 FHl A
80,000& = 212.5m 17,000
Oshdh (EltE s2 Z& SA
80,000& = 200m 16,000
OBtN FEOIS 242 TF DA
80,000& * 225m 18,000
O & S&el =2 FHl SA
80,000& = 212.5m 17,000
Oshdt =ot0tS =3 Hl EHl SAt
80,000& = 212.5m 17,000
Ostat M=ZE0E 842 FHl SM
80,000& = 187.5m 15,000
o0 degiel gelits s2 2 =2 &
g At 80,000& * 225m 18,000
O0lg AlXEe AXHels s2 B BA
80,000&  225m 18,000
OO0y s30ts32 ZE S A
80,000& * 225m 18,000
OO0l Sl J&H Bi+==2 FHl A
80,000& * 125m 10,000
o0 Helts nszd 2 =2 FH 3
At 80,000& * 125m 10,000
00l 5Z22 24018 22 AH&X JA
80,000& = 225m 18,000
OO0y EH0tS =2 EHl SA
80,000& = 100m 8,000
03 Al S THHI 3,960 2,376 1,584
OSo ZoIEAANL ALSUY
1,100,000,000& * 0.36% 3,960
st=2d=8gs 29 715,130 15,350 699,780
S 500,000
i 215,130
st2A=x8ds A& 15,130 15,350 A 220
201 £B-2dH| 12,480 12,700 A 220
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<

n0

Kio

Hl w

21,800

1,580

700,000

700,000

700,000

243,701

734,715

H3r
Wikd
RIS

10,800

1,900

1,300
1,300

1,350

1,350

9,609,999

3,554,285

Off &t 24

9,000
6,500
1,000
2,500
3,000
2,500
2,500
3,480

480

2,000

1,000
1,300
1,300
1,300

1,350
1,350
1,350
700,000
500,000

H

mH

700,000

200,000
500,000

H

mH

200,000

700,000

700,000
500,000
200,000
9,853,700
6,763,000
3,090,700
4,289,000
2,868,000

I

i

mH

A
Al

500,000& * 22
2,500,000& = 1
1,000,000& = 3A
2,500,000 13

01 AtR 2t 2l |
Ol x

30
0B
Mo
[0

no

M0
Mo

KO
]

o

KO
o
i
or
K
Y
or

o)

=

2l % 12

=

[=)
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2
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or

o)

,000,000& » 13/

<0
ol
O
H
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oy
0
or
K
Y
or

o)

=

ol

[und

2« 500 « 13

500,000& * 23]

20,000

01 SLHOYI

202 04l

no
<0
H

o)
oll

301

=}

o

2l x 10

=

o

135,000

ZH0dl

07 2

307 21201 &

o
Ki
H

50
~

ol
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K
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o

0

ol
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F

]

O M4zl

A
Al

700,000,000& = 1

%0
oD

Ko
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2,598,571 517,429

1,421,000
3,116,000
1,695,000
1,421,000




SEA: SAIJE D
B oBhE MOl E N
R SHAMMAZSEFH| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 3,116,000 2,598,571 517,429
2 1,695,000
= 1,421,000
01 Al& H| 3,107,587 2,589,216 518,371
O[AI&HI] 3,107,587
OMSSAMAESESEY ALY
3,107,587,000& * 14! 3,107,587
2 1,690,424
= 1,417,163
03 Al 201 | 8,413 9,355 N942
ONSSAMASEEHLIAIE AIEL20HH]
3,116,000,000& = 0.26999% 8,413
2 4,576
= 3,837
ANSHLHASE M ALY 510,000 955,714 N445,714
2 510,000
401 Al HI L 2 0HHI 510,000 955,714 N445,714
2 510,000
1 Al& H| 506,787 949,693 N 442 906
O[AI&Hl] 506,787
OANMNSHATHASEEHH ALY
506,787,000 = 14l 506,787
2 506,787
03 AlE 21| 3,213 6,021 AN 2,808
OANMNSHATHX S EH ALY S04
3,213,0008 = 14l 3,213
2 3,213
NES(EYE)AMNESEHY ALY 663,000 0 663,000
2 663,000
401 AlEHIZ £ 0HY| 663,000 0 663,000
2 663,000
01 Al&H| 658,823 0 658,823
O[AI&Hl] 658,823
OMNSSEUZE AHA ZSSZH ALY
658,823,000 * 14! 658,823
2 658,823
03 Al& 201 4177 0 4. 177
OMNSSETLE ATMANSEEHUIAYE A2
4.177,000& = 14 4177
2 4177
HAHESE M| 3,875,700 5,341,428 AN 1,465,728
2 2,713,000
= 1,162,700
LYY sES0SSEMLAY 475,700 401,428 74,272
2 333,000
o 142,700
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2N
X ZH -
L= B

el

M e

AH 2 2t
B s A O EOH
ST

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al I 28I 3,425 2,887 538
2 2,397
e 1,028
03 Al SR THHI 3,425 2,887 538
OZFd =ZUSSEMLAY AIEZ20UHI
475,700,000& = 0.7199% 3,425
2 2,397
e 1,028
402 RI2EX20| A 472,275 398, 541 73,734
2 330,603
= 141,672
02 QI2HCH & AL HI 472,275 398, 541 73,734
085 SEUSTSMHL S/WAY
472,275,000& = 14 472,275
2 330,603
e 141,672
golEZHSE SEEUAY 784,300 1,644,286 A 859,986
2 549,000
s 235,300
401 Al& Bl 28I 4,941 5,919 A978
& 3,458
s 1,483
03 Al 2 THHI 4,941 5,919 A978
ol ZdE SEEUIAMY AERUH
784,300,000 * 0.6299% 4,941
2 3,458
i 1,483
402 BIZHXHE 0| A 779,359 1,638,367 A 859,008
2 545,542
s 233,817
02 RI2HCH & AFH HI 779,359 1,638,367 A 859,008
OdiZAA ZEFH S/WAHY
779,359,000 * 14l 779,359
& 545,542
e 233,817
EHQEAA SEEHIAY 1,481,400 1,528,572 N4T 172
& 1,037,000
2 444,400
401 Al HI 2 28I 1,371,400 1,393,572 N22,172
& 960,000
[ia 411,400
01 A& HI 1,347,067 1,388,070 A 41,003
OFAM SOIEAY ST ALY
1,347,067,000& * 14 1,347,067
& 942,967
e 404,100
02 Zeltl 19,000 0 19,000
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SEA: SAIJE D
I Bt AMAHEHRY
el HelceIEE Y| (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O2M EoE=AHSE SSIHUAIE 22l
19,000,000& = {14l 19,000
2 13,300
= 5,700
03 Al 20| 5,333 5,502 A 169
O2N FoE=AHS SESHUAY Ald200]
1,481,400,000& = 0.35999% 5,333
2 3,733
o 1,600
402 SI2v 20| & 110,000 135,000 A 25,000
2 77,000
= 33,000
02 SI2HCH & A HI 110,000 135,000 A 25,000
OZAN o= Z&AH| s/wAlY
110,000,000& * 14l 110,000
2 77,000
= 33,000
DeHSE SSAYALE 671,400 668,570 2,830
2 470,000
= 201,400
401 AlEHIZL £ 0HY| 471,100 668,570 A 197,470
2 329,790
= 141,310
01 Al&H| 466,871 664,359 A 197,488
ObYAHSE SerHHIAIEYE 466,871,000 * 14 466,871
2 326,830
= 140,041
03 Al 201 Y| 4,229 4,211 18
OO0l Z=stEHHIAIY A& 20|
671,400,000& * 0.6298% 4,229
= 2,960
= 1,269
402 SI2vXHE0| ™ 200,300 0 200,300
2 140,210
= 60,090
02 OI2HCH & AF S HI 200,300 0 200,300
O0IYHA =™l S/WAFS
200,300,000& = 14 200,300
2 140,210
= 60,090
THOISAY SSEHHAMYE 462,900 0 462,900
2 324,000
= 138,900
401 Al HI L E0HHI 342,900 0 342,900
2 240,000
= 102,900
01 Al&H| 339,567 0 339,567
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SA: SADHY D
HH: UBhs MO EIY
Sl AP S FY) (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OEXZHA S HBIAY  339,567,000& = 14 339,567
= 237,667
= 101,900
03 Al 2 THHI 3,333 0 3,333
OZSZAY ZEFHIAY AlZR0HYI
462,900,000& = 0.72% 3,333
2 2,333
T 1,000
402 2I2tXE2 01 & 120,000 0 120,000
= 84,000
[ia 36,000
02 2I2HCH & A H HI 120,000 0 120,000
OZXZHY ZEIHIAME JI2HE+E
120,000,000& = 14 120,000
2 84,000
[a 36,000
JlzMgolmet Ay 1,689,000 714,286 974,714
= 1,182,000
[ia 507,000
SEMESZFHAMY 1,689,000 714,286 974,714
z 1,182,000
[ia 507,000
401 AIEHIZL 20 1,689,000 714,286 974,714
2 1,182,000
a 507,000
01 A& HI 1,682,919 709,786 973,133
O[AI&HI] 1,682,919
OsEMESZIHIAY
1,682,919,000& * 14l 1,682,919
& 1,177,743
[ia 505,176
03 A& S THHI 6,081 4,500 1,581
O=sZEMEZ I ALY AlZ =20l
1,689,000,000& = 0.36% 6,081
& 4,257
s 1,824
LI (S AIHL D) 57,128 63,633 N 6,505
Jl= &l 57,128 63,633 A 6,505
SAZ2E JI=234l 26,826 29,236 22,410
201 ¢er24| 15,482 17,098 21,616
01 Ar22t2l bl 14,458 16,065 A 1,607
Olger=&tl] 11,056
ORN2E SUNY 11,056,000 = 14 11,056
Ol=&Hl] 3,402
ORN2E U 3,402,000 = 14 3,402
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==\ BT’
M HNYSAAH (S AML D)

chelr D123l (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 2=22Z 4l 1,024 1,033 A9
ol2222 ¥ HMAl 1,024
O=2ANEs SJI= 1,900 = 2821 » 12& 639
ONEs MIIe=s 32,0833 ~ 123 385
202 odl 7,144 7,938 AT94
01 201 b 7.144 7,938 AT94
O[=2Uobl] 7,144
ORAN2E SUNY 7,144 ,000& = 14 7,144
203 YR =2t 4,200 4,200 0
04 NI 4,200 4,200 0
ORA2EIRFAHI 350,000& = 123 4,200
SAAEE JI=AY 9,462 11,440 A1,978
201 L2l 5,380 6,904 A 1,524
01 At 22/l 4,813 5,349 A 536
Oflger=&tl] 2,857
ORN2E SUNY 2,857,000& = 14 2,857
Ol=&Hl] 1,956
ORA2E SHA L 1,956,000 * 14 1,956
02 =224l 567 1,555 A 988
Ol3322 ¥ HMAl 567
O=EANESs SIE 567,000& = 14 567
202 oddl 4,082 4,536 A454
01 = LH o4 1l 4,082 4,536 A454
Ol=oddl] 4,082
ORA2E SHAL 4,082,000& 14! 4,082
e o= Rl 9,749 10,634 885
201 LBt2d| 6,688 7,232 Ab44
01 At 22l 6,688 7,232 A544
O[get=&dl] 4,392
ORAN2E SHAHL 2,592,000& * 14l 2,592
OHLEHEEY ¢ 90,000& » 20A 1,800
Ol=&Hl] 2,296
ORAN2E SUAHA 2,296,000& * 14 2,296
202 oddl 3,061 3,402 A 341
01 = LH o4 1l 3,061 3,402 A 341
O[=oddl] 3,061
OFNM2E SUHH & 3,061,000& * 14 3,061
A=g Jl= Bl 11,091 12,323 A 1,232
201 LB-2E| 8,029 8,921 A 892
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¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 At 22l 8,029 8,921 A 892
Olget=&Hl] 6,804
ORA2E SHA L 6,804,000& * 14! 6,804
O] 1,225
ORAN2E SHAL 1,225,000& = 14 1,225

202 O4dl 3,062 3,402 A 340

01 = LH 4 Hi 3,062 3,402 A 340
ORNM2Y SHAY 3,062,000 = 14 3,062
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